Reading Practice 16

1.  Although the black diamond ski run was clearly marked, Simon skied out of bounds in order to beat his opponent to the bottom of the mountain.  

Please choose from one of the following options.

A.  No Change

B.  boundless

C.  out on bound

D.  outside of bounds

2.  "You can be a real pain about the neck," said the man, cleaning up his dog's mess.
Please choose from one of the following options.

A.  No Change

B.  of

C.  by

D.  in

3.  A Japanese electronics company has invented a new type of rubber that generates electricity in stretching.
Please choose from one of the following options.

A.  No Change

B.  when stretched

C.  over stretching

D.  under stretch

4.  The environmentalist spoke to the audience about the advantages of lab-grown meat, but her words appeared to go on one ear and out the other.
Please choose from one of the following options.

A.  No Change

B.  over

C.  under

D.  in

5.  Identifying the right ratchet in the messy toolbox was like finding a needle with a haystack.
Please choose from one of the following options.

A.  No Change

B.  in 

C.  as

D.  through

Answers

1.  A  No Change

2.  D  in

3.  B  when stretched

4.  D  in

5.  B  in  

